Year 4 Maths Activity Mat

®

Find the area of this triangle.

7cm
not to scale

Acm

8.8 83

Order these from smallest to largest:

8.9 85 8.1

g N )
Section 1 Section 2 Section 3 Section 4 Section 5
Write this number: Calculate the following in your head: Calculate: Round to the nearest whole Tickets to the skating rink
. h 4 three hundred number: cost £17 for children and
our thousand, three hundre i
and six 55 4+ 60 = 235100 = £23 for adults. What is the
23 > total cost for 2 adults and
’ 3 children?
45+ 36 = 5.1x 100 =
In the number 23 648, 46 —>
what place value does the 3
represent? 52-22= 231+ 100 =
59 —
21-12= 622 + 100 =
\ J \ J
- a N\
Section 6 Section 7 Section 8

Convert these weights to grams or
kilograms:

4500q =

5.2kg =
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Year 4 Maths Activity Mat: 3

not to scale

Acm

31.5cm?

Answers
g y )
Section 1 Section 2 Section 3 Section 4 Section 5
Write this number: Calculate the following in your head: Calculate: Round to the nearest whole Tickets to the skating rink
. h 4 three hundred number: cost £17 for children and
our thousand, three hundre i
and six 55 + 60 = 1 15 23x 100 = 230 t£23lf0r adultS.QW(;lalt N thj
23 > 2 otal cost for 2 adults an
3 children?
4306
45+ 36 = 81 5.1x 100 = 510
In the number 23 648, 46 —>» 5
what place value does the 3
represent? 52-22= 30 231+ 100 = 2.31
3000 5q 6
21-12= q 622 + 100 = 6.22 £97
\ J J
- 7 \
Section 6 Section 7 Section 8
Find the area of this triangle. Order these from smallest to largest: Convert these weights to grams or
kilograms:
8.8 83 8.9 85 8.1
45009 = | 4.5k
81 | 83 | 85 | 88 | 84 I
Zem 52kg= | 5200g
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